
Answer on Question #47639-Physics-Electromagnetism 

It is restrict to conduct a parallel plate capacitor with thin foil and mia with dielectric constant 𝜀 = 6 so that 

when conducted to the potential of 𝑉 = 1000 𝑣𝑜𝑙𝑡. The capacitor may store 𝐸 = 0.1 𝑗𝑜𝑢𝑙𝑒. If the area of 

each tin foli is 𝑆 = 100 𝑠𝑞. 𝑐𝑚 = 0.01 𝑚2 and if the thickness of the mica is 𝑑 = 0.15𝑚𝑚 = 15 ∙ 10−5𝑚. 

Calculate the no.of tin folis required. 

Solution 

The energy stored in capacitor is 

𝐸 =
1

2
𝐶𝑉2. 

The capacitance of a parallel plate capacitor is 

𝐶 =
𝑛𝜀𝜀0𝑆

𝑑
. 

Then 

𝑛 =
2𝐸𝑑

𝜀𝜀0𝑆𝑉2
=

2 ∙ 0.1 ∙ 15 ∙ 10−5

6 ∙ 8.854 ∙ 10−12 ∙ 0.01(1000)2
= 57. 

Answer: 57. 
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